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1.(25%) A truss structure has two axial force members. The
moduli of elasticity for the first and the second
members are E,=200GPa, and E,=70GPa. The
cross-section areas of two members are 4;=4x10™*m?,
and Az=8><10’4 2 : Thc second member has a length
L2=0 6m. 3; LIt § 1s lmown lhat B=30° P=100kN, and
P2=500kN Determmm '

a) axial forces F. and F; on the two members.
. b) horizon and vertical displacements of the joint B.

2. (25%) An element in plane stress is subjected to the stresses
shown in the figure. Determine
a) principal stresses and directions of principal planes.
b) maximum shear stresses and directions of the
planes on which they act,

3. (25%) A simply supported beam is subjected to a uniform
distributed loading w.  This beam has a rectangular
cross section whose width and depth are b and A
respectively. Determine:
a) the maximum bending stress in the beam.
b) the maximum shear stress in the beam.
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4. (25%) A continuous beam carries a uniform load w. This
beam has a uniform cross-section and has a moment ¥ v(x)
of inertia I. Modulus of elasticity is E.
a) What is (are) the differential equation(s) for the
deflection curve v(x)?

At 2 A

b) What are boundary conditions for the differential
equation(s)?




